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 
 
 
 
 
 
 


  

(i) 
(ii) 

 

 

 

 (
) 

 

 

 10-20 10 
20 

 

 = 2


 = + 2
1

( ) 
 

(c.f.) 
 

(a) , (b) 
 

Ex.1 25 
-

15, 16, 16, 14, 17, 17, 16, 15, 15, 16, 16, 17, 15,16, 16, 14, 16, 15, 14, 15, 16, 16, 15, 14, 15. 
Sol.  25 

 14  4 
 15  8 
 16  10 
 17  3 

25
Ex.2 



15, 18, 16, 20, 25, 24, 25, 20, 16, 15, 18, 18,16, 24, 15, 20, 28, 30, 27, 16, 24, 25, 20, 18,28, 27, 25, 24, 24, 18, 18, 25, 20, 16, 15, 20,27, 28, 29, 16. 

15 4 
16 6 
18 6 
20 6 
24 5 
25 5 
27 3 
28 3 
29 1 
30 1 

40
Ex.3 30 

10 
30, 32, 45, 54, 74, 78, 108, 112, 66, 76, 
88, 40, 14, 20, 15, 35, 44, 66, 75, 84, 95, 96, 
102, 110, 88, 74, 112, 14, 34, 44.  

Sol.  
112 14 
 = 112 – 14 = 98. 

10  = 10
98  = 9.8 

10 
14-24 14 

104-114 
112 14-24 

14 24 

( ) 
 14-24  4 
 24-34  2 
 34-44 3 
 44-54 3 
 54-64 1 
 64-74 2 
 74-84 5 
 84-94 3 
 94-104 3 
 104-114 4 

  

30 
Ex.4 IX 40 

18, 8, 12, 6, 8, 16, 12, 5, 23, 2,16, 23, 
2, 10, 20, 12, 9, 7, 6, 5, 3, 5, 13, 21, 13, 
15, 20, 24, 1, 7, 21, 16, 13, 18, 23, 7, 3, 
18, 17, 16.   

( 15-20 
20 ) 

Sol.  

 

 0-5  6 
 5-10 10 
 10-15  8 
 15-20  8 
 20-25  8 

 

40
Ex.5 

47, 52, 57, 62, 67, 72, 77, 82, 87, 92, 97, 102 

Sol.  


= 52 – 47 = 5 

a h 



a – 2
h

a + 2
h


= 47 – 2

5  = 44.5 

= 47 + 2
5  = 49.5 

44.5 – 49.5 

104.5-99.5102
99.5-94.597
94.5-89.592
89.5-84.587
84.5-79.582
79.5-74.577
74.5-69.5 72

69.5-64.567
64.5-59.562
59.5-54.557
54.5-49.5 52
49.5-44.547

Ex.6 26, 31, 36, 41, 46, 
51, 56, 61, 66, 71 

Sol.  

 = 31 – 26 = 5. 

a h 
a – 2

h

a + 2
h

 h = 5 


= 26 – 2
5  = 23.5 

= 26 + 2
5  = 28.5 

 = 23.5 – 28.5.  

23.5 – 28.5, 28.5 – 33.5, 33.5 – 38.5, 
38.5 – 43.5, 43.5 – 48.5, 48.5 – 53.5 




Ex.7 35 

0 1
1 2
2 4
3 4
4 3
5 5
6 4
7 6
8 3
9 2
10 1

Sol.  



 Edubull

0 1 1
1 2 3 (=1 + 2)
2 4 7 (=1 + 2 + 4)
3 4 11 (=1 + 2 + 4 + 4)
4 3 14 (=1 + 2 + 4 + 4 + 3)
5 5 19 (=1 + 2 + 4 + 4 + 3 + 5)
6 4 23 (=1 + 2 + 4 + 4 + 3 + 5 + 4)
7 6 29 (=1 + 2 + 4 + 4 + 3 + 5 + 4 + 6)
8 3 32 (=1 + 2 + 4 + 4 + 3 + 5 + 4 + 6 + 3)
9 2 34 (=1 + 2 + 4 + 4 + 3 + 5 + 4 + 6 + 3 + 2)

10 1 35 (=1 + 2 + 4 + 4 + 3 + 5 + 4 + 6 + 3 + 2 + 1)
 = 35

Ex.8 40 

20-25 7
25-30 10
30-35 8
35-40 6
40-45 4
45-50 5

(a) 
(b) 
(c) ( ) 

Sol. (a) 

2
2520 , 2

3025 , 2
3530 , 2

4035 , 2
4540  , 2

5045 . 
= 22.5, 27.5, 32.5, 37.5, 42.5, 47.5 

(b) 35–40 40 
(c) = 25 – 20 = 5 

Ex.9 40 

  

0-10 3
10-20 8
20-30 9
30-40 15
40-50 5

Sol. 

0–10 3 3
10–20 8 11 ( = 3 + 8 )
20–30 9 20 ( = 3 + 8 + 9)
30–40 15 35 ( = 3 + 8 + 9 + 15)
40–50 5 40 ( = 3 + 8 + 9 + 15 + 5)

 = 40
Ex.10 25, 35, 45, 55, 65 75 

Sol.  = 
= 35 – 25 = 10 

10 
25, 35, 45, 55, 65, 75 

25 – 2
10  25 + 2

10
20 30 

20–30 
30 – 40, 40 – 50, 50 – 60, 

60 – 70, 70 – 80 
Ex.11 40 

20 5
40 10
60 25
80 32
100 40

Sol. 

0-20 5 5
20-40 10 5 ( = 10 – 5)
40-60 25 15 ( = 25 – 10)
60-80 32 7 ( = 32 – 25)

80-100 40 8 (= 40 – 32)






( ) 
5 
2 
3 
2 
4 

6 
  5 
  4 
  3 
  2 
  1 

X
(x- )

(y- )Y 

 
x-

y-
1. 
2. 

  
Ex.12 -

 2,00,000, 
(i) (ii) 

7 
 6 
  5 
  4 
  3 
  2 
  1 

X

4

Y

3 

6

2

5 

Sol.  3 : 4 : 6 : 2 : 5 
=  2,00,000. 

3 + 4 + 6 + 2 + 5 = 20. 
=  2,00,000 × 20

4 =  40,000
=  2,00,000 × 20

6  =  60,000
Ex.13 

A B 40 

: 0-10 10-30 30-60 60-100 
A

 : 
5 10 20 5 

B 
: 

10 15 10 5 

Sol. 

25
  20
  15
  10
 

 5
 0 X

Y

(0-10) (10-30) (30-60) (60-100)

5 
10 10

15
20

10
5 5

 (A)
 (B)

Ex.14 



1978-79
X

Y

5   10  15  20  25  30  35  40   45  50  55  60  65  70

1979-80
1980-81
1981-82
1982-83

O

(i) ? 
(ii) 1980-81 
(iii) 1978-1983 

Sol.  (i) 1978-1983 
 (ii) 1980-81 = 55 

1980-81 55 
(iii) 1981-82 65 

1979-80 
25 

 = 65 – 25 = 40 


 

 
(i) 

O OX  OY 
(ii) OX  X- OY 

 Y-
(iii) X-
(iv) Y-
(v) 

 
. 

(i) 
O OX  OY 

(ii) OX  X- OY 
 Y-

(iii) X-
(iv) h 
(v) 

= h  × 

(vi) Y-
(vii) 

 
(i) 

h 
(ii) 2 
(iii) 2

h

2
h

(iv) 
 

Ex.15 100 



280-70
870-60

1860-50
2050-40
2240-30
1630-20
1020-10
410-0

Sol.  X-
Y-

22201612 8 4
0 10 20 30 40 50 60 70 80

Ex.16 50 ( ) 

390-85
685-80
780-75
575-70
470-65
565-60
860-55

1255-50
)( 

Sol.  X-
Y-
 X- 50 

(kink) 
50 

0 

 

50 55 60 65 70 75 80 85 900 

1210 8 642





Y 

X

Ex.17 

880-60
1260-40
1240-30
530-25
825-20
920-15
715-10 

: )( )(  

Sol.  

 15 – 10 = 5 

= × 

2820
5880-60

31220
51260-40

61210
51245-30

555
5530-25

885
5825-20

995
5920-15

775
5715-10 

 )( 











0 

10
8
6
4
2

10  15  20  25  30    40         60         80

Ex.18 

66050
105045
184530
323010
8100







Sol.  = 5 

= ×

3610
5660-50

10105
51050-45

61815
51845-30

83220
53230-10

4810
5810-0

)( 







0

10
8 
6 
4
2

10 30 45 50 60

Ex.19 65 

3200
7190

12180
25170
10160
8150

)(

Sol.  
160 – 150 = 10. 
 h = 10  

 2
h  = 5.

150 – 5 150 + 5 145 
155 
 145 – 155 

3205-195
7195-185

12185-175
25175-165
10165-155
8155-145 



0 145  155  165 175  185  195 205 X 

24
20
16
12
8
4

Y 

Ex.20 

754-50
1049-45
2044-40
2339-35
1534-30
529-25 

Y 

X 0

25
 20
 15
 10
  5



24.
5

29.
5

34.
5

39.
5

44.
5

49.
5

54.
5


Ex.21 (

) 

20
40
10
5
15

( ) 

Sol.  

50



40
30 
20 
10 

0 X

Y 



Ex.22 

100-110 2
110-120 3
120-130 5
130-140 8
140-150 4

Sol.  

8

150 X

Y 

140 130120 110 100 

6 
4
2

Ex.23 50 

10-20 4
20-30 12
30-40 15
40-50 8
50-60 5
60-70 4
70-80 2

Sol.  X-
Y-  



                                                 

3 
6
9 

12
15

10 20 30 40 50 60 70 800 

Ex.24 40 

51-60 5
61-70 10
71-80 12
81-90 6
91-100 4
101-110 3

Sol.  
1 

50.5 60.5 

  50.5 – 60.5 5
  60.5 – 70.5 10
  70.5 – 80.5 12
  80.5 – 90.5 6
  90.5 – 100.5 4
100.5 – 110.5 3

 . 

3 
6
9 

12 
15 

0 50.5 60.5 70.5 80.5 90.5 100.5 110.5 


50.5 (

) kink (break) 



 

(i) 
(ii) 
(iii) 
(iv) ( x-

), 

(v) 

 
 : 

(i) 
(ii) 



(iii) X-
(iv) Y-
(v) (xi,fi) xi fi 
(vi) V 
(vii) 

(viii) 

 
Ex.25 

: 

 : 
: 

0-10 5 
10-20 10 
20-30 4 
30-40 6 
40-50 7 
50-60 3 
60-70 2 
70-80 2 
80-90 3 

90-100 9 
 

Sol. 
( ) 

0 10    20    30    40    50    60    70     80    90    100 

10
9 8
7
6
5
4 
3 
2
1

Ex.26 

118-16
316-14
514-12
612-10
910-8
88-6
66-4
44-2
22-0

: : )(

Sol.  

11718-16
31516-14
51314-12
61112-10
9910-8
878-6
656-4
434-2
212-0

: )(



y 
10
 9 
 8 
 7 
 6 
 5 
 4 
 3 
 2 
 1 

–1   1  3  5  7   9  11  13  15  17  19

 ( ) 

(1, 2)
(3, 4)

(5, 6)
(7, 8)

(9, 9)

(11, 6) 
(13, 5) 

(15, 3) 
(17, 1) 

x

Ex.27 
 : 

0-6 6-12 12-18 18-24 24-30 30-36
4 8 15 20 12 6 

Sol.  (-6-0), (0-6), (6-12), (12-18), (18-24), 
(24-30), (30-36)  (36-42), x-

0, 4, 8, 15, 20, 12, 6 0, y-

0 
5

10
15
20

-6     0     6    12   18   24   30  36   42


Y

X



Ex.28 
: 

140-150 150-160 160-170 170-180 180-190 190-200 
5 10 20 9 6 2 

Sol.  

130-140, 140-150, 150-160, 160-170, 170-180, 
180-190, 190-200, 200-210 

0, 5, 10, 20, 9, 6, 2, 0 

1452
150140,1352

140130  ,……, 
2052

210200 
x- y-

(135, 0), (145, 5), (155, 10), (165, 20), (175, 
9), (185, 6), (195, 2) (205, 0) 
ABCDEFGH 

25
 20
 15
 10
 5

0 135 145 155 165 175 185 195 205
(135,0)A 

(145,5)B
(155,10)C

D(165,20)

E(175,9)
F(185,6)

G(195,2)
H(205,0)

Y 

X




Ex.29 ( ) 

 :  
 ( ) A B 

20-29 
30-39 
40-49 
50-59 
60-69 
70-79 

5 
10 
15 
10 
20 
5 

10 
15 
10 
5 

10 
15 

65 65 
A B 



Sol.  20-29, 30-39, 40-49, 50-59, 60-69, 70-79 
24.5, 34.5, 44.5, 54.5, 64.5, 

74.5 A B 
5, 10, 15, 10, 20, 5 ; 10, 15, 10, 5, 10, 15 

A 
(14.5, 0), (24.5, 5), (34.5, 10), 

(44.5, 15), (54.5, 10), (64.5, 20), (74.5, 5), 
(84.5, 0)...........

B 
(14.5, 0), (24.5, 10), (34.5, 15), (44.5, 

10), (54.5, 5), (64.5, 10), (74.5, 15,), (84.5, 0), 

20
15
10 
5

0

Y

X





(14.5,0)
(24.5,10) 

(24.5,10)

(34.5,15) (44.5,15)
(64.5,20)

(74.5,15)

(84.5,0)

(34.
5,10

)

(54.
5,10

)(44.5,10) (64.5,10)
 

A 
B - - - - 

14.5   24.5 34.5  44.5 54.5  64.5 74.5  84.5 
 

(54.5,5) (74.5,5)

B  A 

Ex.30 

Section A Section B 

0-10 
10-20 
20-30 
30-40 
40-50 

3 
9 

17 
12 
9 

0-10 
10-20 
20-30 
30-40 
40-50 

5 
19 
15 
10 
1 

 

Sol.  A : 5, 15, 25, 35, 45 
3, 9, 17, 12, 9  

(-5, 0), (5, 3), (15, 9), (25, 17), 
(35, 12), (45, 9) (60, 0) 

B 
(-5, 0), (5, 5), (15, 19), (25, 15), (35, 10), 
(45, 1) (60, 0) 

20
 18
 16
 14
 12
 10
 
 8
6

 4
 2

–5       0       5      15    25     35     45    55     65

Y 

X





A 
B  

X’

Ex.31 

30-40 12
40-50 18
50-60 26
60-70 16
70-80 10
80-90 6

Sol.  



0
5

10
15
20
25
30

30 40 50 60 70 80 90



o
 X n x1, x2, x3,.....,xn

X

X  = n
x....xxx n321   = 





n

1i
ixn

1


n

1i
ix  x1+ x2 + x3 + ....+ xn 

 n x1, x2,...., xn X
x1 + a, x2 + a,...,xn + a X  + a 

a 
a 

 n x1, x2,...., xn X
ax1, ax2,...axn Xa

a  0 a 
n 

 n x1,x2, x3...,xn X  

a
x1 , a

x2 , a
x3 ,..., a

xn
a
X

a  0 
 n x1,x2, x3...,xn X  

 x1–a, x2 – a,..., xn – a X  – a 
a 

 
(i) 

(ii) 
(iii) 
(iv) 
(v) 

 :
(i) 

(ii) 

(iii)

 


   
Ex.32 n ax1, ax2, ax3,..., axn a X

)Xaax( 1   + )Xaax( 2   +...+ )Xaax( n   = 0 
Sol.  

Xa  = n
ax...axax n21  

   ax1 + ax2 +...+ axn = n( Xa ) ....(i) 
, (ax1 – Xa ) + (ax2 – Xa )+...+ (axn – Xa ) 

= (ax1 + ax2 +...+ axn) – ( Xa  + Xa  +...+ Xa ) 
                  n – 
 = n( Xa ) – n( Xa ) = 0. 

Ex.33 160 40 
165 125 

Sol.    , n = 40, X  = 160 
, X  =   ixn

1 160 =   ix40
1 

   ix  × 40 = 6400 
   ix  = 6400 

  ix
= – 

+ 
  ix  = 6400 – 125 + 165 = 6440 

=   xi

n = 40
6440 = 161

Ex.34 10 20 
5 

?    
Sol.  10 x1, x2,...,x10 20 



  ixn
1X

 20 = 10
x...xx 1021 

 x1 + x2 +...+ x10 = 200 ....(i) 
x1 – 5, x2 – 5,..., x10 – 5. 

'X  
, 

10
)5x(...)5x()5x('X 1021 

10
50200

10
105)x...xx('X 1021 

 [ (i) ] 
'X  = 15.    

 
Ex.35 

65, 78, 82, 94 

Sol.  
= 5

7194827865 

= 5
390  = 78 

= 78   
Ex.36 5, 7, p, 11, 15, 17, 20  12 

p
Sol.  = 7

20171511p75 

 12 = 7
p75

  p + 75 = 12 × 7 p = 9 
Ex.37 5 15 10 

20 15 

Sol.  x1,...,x5
 = 5

x...xx 521 

 15 = 5
x...xx 521 

 x1 + ... + x5 = 75 ……(i) 
10 y1 + ... + y10

 = 10
y...y 101 

  20 = 10
y...y 101 

y1 + ... + y10 = 200 ……(ii) 
15 

15
)y...y()x...x( 10151 

= 15
20075 ((i) (ii) ) 

= 18.33 

X x1,x2...xn 
f1,f2,f3,...,fn 

X  = 
n21

nn2211
f...ff

xf...xfxf



X  = N
xfn

1i
ii , N =

n

1i
if = f1+f2+...+ fn 

Ex.38  : 
x : 4 6 9 10 15 
f : 5 10 10 7 8   

Sol.  
xi fi fixi 
4 5 20 
6 10 60 
9 10 90 
10 7 70 
15 8 120 

40fN i   360xf ii 
 = 40

360
f
xfX
i

ii 
 = 9. 

Ex.39  : 

10151087f
8970503010x



Sol.  
xi fi fixi 
10 
30 
50 
70 
89 

7 
8 

10 
15 
10 

70 
240 
500 

1050 
890 

fi = N = 50 fixi = 2750 
   = 50

2750
N

xf ii   = 55. 
Ex.40 7.5 p 

x : 3 5 7 9 11 13 
y : 6 8 15 P 8 4 

Sol.  
xi fi fixi
3 6 18
5 8 40
7 15 105
9 p 9p
11 8 88
13 4 52

N = fi = 41 + p fixi = 303 + 9p
 fi = 41 + p, fixi = 303 + 9p 

  = 
i

ii
f
xf


 7.5 = p41

p9303



 7.5 × (41 + p) = 303 + 9p 
 307.5 + 7.5p = 303 + 9p 
 9p – 7.5p   = 307.5 – 303  
 1.5p = 4.5   p = 3 

Ex.41 
1.46 
0 1 2 3 4 5

(f) : 46 ? ? 25 10 5 200
 

Sol.  f1 f2

xi fi fixi 
0 46 0 
1 f1 f1 
2 f2 75 
3 25 2f2 
4 10 40 
5 5 25 

N = 86 + f1 + f2 fixi = 140 + f1 + 2f2 
: N = 200 

 200 = 86 + f1 + f2 f1 + f2 = 114   ....(i) 
, 
 = 1.46 

 1.46 = N
xf ii  1.46 = 200

f2f140 22 
 292 = 140 + f1 + 2f2 
 f1 + 2f2 = 152 ....(ii) 
(i) (ii)  f1 = 76 f2 = 38. 

Ex.42 9.2 p 

x 4 6 7 p + 4 12 12
f 5 6 4 10 8 7

Sol.  
x f f.x
4 5 20
6 6 36
7 4 28

p+4 10 10p + 40
12 8 96
14 7 98

40 318 + 10p
, 

f
x.fx 

 = 40
p.10318

 9.2 = 40
p.10318

 318 + 10.p = 368   
 10p = 50 p = 5 



Ex.43 30 

10 4
11 3
12 8
13 6
14 7
15 2

Sol.  
x f fx
10 4 40
11 3 33
12 8 96
13 6 78
14 7 98
15 2 30f = 30 fx = 375
= f

fx

  = 30

375  = 12.5 
 

 : 
1. 
2. 
3. 


fi xi

x1 f1 f1 x1
x2 f2 f2 x2
: : :. . .
xk fk fk xk

N 
k

1i
iixf

x =
k21

kk2211
f...ff

fx...fxfx

 =

i

k

1i
ii

f
fx


 = N

1 k
1

iixf
[N = f1 + f2 + ... + fk] 



 
Ex.44 2 3 4 5 6

49 43 57 38 13

Sol.  
(fi) fixi

2 49 98
3 43 129
4 57 228
5 38 190
6 13 78

N =fi = 200 fixi = 723

= 
i

ii
f
xf


  = 200

723

 = 3.615 

Ex.45 
: 

10 – 30 90
30 – 50 20
50 – 70 30
70 – 90 20
90 – 110 40

Sol. 
f (x) f x

10 – 30 90 20 1800
30 – 50 20 40 800
50 – 70 30 60 1800
70 – 90 20 80 1600
90 – 110 40 100 4000

 f = 200  f x = 10000
( x ) = f

xf



= 200
10000  = 50 



Ex.46 
20 

0 – 2 2 – 4 4 – 6 6 – 8 8 – 10 10 – 12 12 – 14

1 2 1 5 6 2 3

Sol.  

(f)
x f x

0 – 2 1 1 1
2 – 4 2 3 6
4 – 6 1 5 5
6 – 8 5 7 35
8 – 10 6 9 54

10 – 12 2 11 22
12 – 14 3 13 39

 f = 20  f x = 162
= f

xf

  = 20

162  = 8.1

 



 xi
x 

 : 
 I : 

 II  : n 
 

 III  : n 
 = 


 

2
1n

n , 

= 2
12

n
2
n 


 




 


 

  
Ex.47 : 

25, 34, 31, 23, 22, 26, 35, 28, 20, 32 
Sol.  20, 22, 23, 

25, 26, 28, 31, 32, 34, 35 
n = 10 ( ) 

  

= 2
12

10
2

10 





 

   = 2
5 6

 = 2
2826   = 27 
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Ex.48 : 
37, 31, 42, 43, 46, 25, 39, 45, 32 

Sol. 25, 31, 
32, 37, 39, 42, 43, 45, 46  

n = 9 ( ) 
 = 


 

2
19

  = 5  = 39. 
Ex.49 11, 12, 14, 18, x + 2, x + 4, 30, 32, 35, 41 

24 x 

Sol.  n = 10 ( ) 

= 2
12

n
2
n 





 

  24 = 2
65 thth 

  24 = 2
)4x()2x( 

  24 = 2
6x2 

   24 = x + 3 
  x = 21. 

,  x = 21. 
Ex.50 : 

19, 25, 59, 48, 35, 31, 30, 32, 51. 
25 52 

Sol.  19, 
25, 30, 31, 32, 35, 48, 51, 59 

n = 9 ( ) 
= 


 

2
19

  = 5 
= 32. 

= 32 

25 52 
: 

19, 30, 31, 32, 35, 48, 51, 52, 59 
   = 5 = 35. 

Ex.51 
(kg )
46 3
47 2
48 4
49 6
50 5
51 2
52 1

Sol.  : 
Cf

xi
fi

46 3 3
47 2 5
48 4 9
49 6 15
50 5 20
51 2 22
52 1 23

, n = 23, ( ) 
 = 

2
123t   = t12 = 49 

(  12 ) 
Ex.52 

75, 70, 68, x + 2, x – 2, 50, 45, 40 
 60 x 

Sol.  8 4th 
5th 

 = 2
)2–x()2x( 

 60 = 2
x2   x = 60 



 
 
 

 I : 
 II : 

  III : (x) 
 IV : 



Ex.53 : 
110, 120, 130, 120, 110, 140, 130, 120, 140, 120. 

Sol.  : 

110 | | 2 
120  | | | | 4 
130 | | 2 
140 | | 2 
 120 (4) 

120  
Ex.54 

7, 7, 8, 8, 8, 9, 9, 10, 10, 10, 11, 11, 12, 13, 13 
Sol.  8  10 3 

 = 2123232
21312211310293827




= 15
26122230182414   = 15

146  =9.73 
 = 15 ( ) 

  = 
2

115t   = t8 = 10 
  = 3  – 2  
= 3 × 10 – 2 × 9.73 = 30 – 19.46 = 10.54

Ex.55 40 

(kg )
54 6
72 6
80 1
64 2
62 6
60 5
58 5
56 4
63 5

Sol.  54, 72  62  6 

x  (f) (c.f.) (f.x)
54 6 6 324
56 4 10 224
58 5 15 290
60 5 20 300
62 6 26 372
63 5 31 315
64 2 33 128
72 6 39 432
80 1 40 80

40 2465

= f
x.f


  = 40

2465  = 61.625 
 = 40 ( ) 

= 2
tt 2120   = 2

6260   = 61 
  = 3  – 2 

 = 3 × 61 – 2 × 61.625 
 = 183 – 123.25 = 59.75 
= 59.75 kg  




